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QUESTION 2:

Find the area of the region enclosed by the rose curve,

r =cos(20).

Solution:-
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QUESTION 1. (4 points, 1LO’s 1.3)

Find the slop of the tangent line to the curve r =4 —3sin Oatb=n.
Solution:-

rcos @+ Et sin@
dy _dy/do _ dé (1points)
dx dx/dé'

—rsin@+ Ecosé
de

(4-3sin 8)cos 6 +(-3cos 6)sin@

” (1points)
—(4-3sin)sin & + (-3cos@)cosd
AtO=m
(4-3sin7)cos z +(-3cos 7)sin 7 (1points)
E —(4-3sin r)mnx+(~3m&#)eﬂs§r o
 (4-3(0)(-)+(-3 (1points)
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QUESTION 3:

a) Find the center and the rad:us of the sphere whose equation is given b
4yt 42t —8x+2y—6z+1=0.

(3+3 points, ILO’s 1.5)
Y-

Solution:-
(x? ~8x+16) + () + 2+ 1)+(z2 ~62+9)=16+1+9-1 (1points)
(x=4)" +(p+1)’ +(z=3)* =25 (1points)
The center is C (4,1, 3) {%p‘oints}
The radius » =25 =5 ( —21~ points)
b) Find the direction cosines of the vector v=i—2 it2k
Solution:-
: v 1 1 : B i \
COscr Se—n= - =—.=>a_'=l.231 (lpﬂlntﬂ
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=2 =2 - =
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